CTS PATTERN

 

INTERVIEW:

There are three phases of interview.

1. Written Test ( Please find sample Test Questions below )

2. Technical  ( Get chance if you clear the written examination ) &

3. HR (Get chance if you clear the technical interview).

Technical Interview:- 

Technical & HR questions. 

Technical Round - 

Be well prepared with questions on DBMS and RDBMS, SQL querry, programming skills using C (Refer to the book on “Test Your C Skills” by Y Kanitkar.) Prepare puzzles (alphabetical series.) Filling up the blanks with proper alphabets. Essay Writing . 

HR Interview -

Consists of questions like-

1.     Tell me something about yourself.

2.     Why you want to join CTS?

3.     What are your good & bad qualities?

4.     Mention the primary property for a good software engineer.

5.     Give an example in your life where you can prove that you have that property.

6. What are your hobbies & some hobby related questions?

Sample Test Questions – Written Test

CTS Aptitude Question paper 

1. If all the 6 are replaced by 9,  then the algebraic sum of all the numbers from 1 to 100(both inclusive) varies by                                          
 

Ans: 330
2. The total no. of numbers that are divisible by 2 or 3 between 100 and 200(both inclusive) are                                                                              
Ans:67

3. The average temperature of days from Monday to Wednesday is 37 degree Celsius and that of from Tuesday to Thursday is 34 degrees.  The temperature of Thursday is 4/5th of Monday.  Then the temperature of Thursday is                                                                                                                                                           Ans: 36 degrees   

4.    A cube of 12 mm is painted on all its side.  If it is made up of small cubes of size 3mm.   If the big cube is splitted into those small cubes, the number of cubes that   remain unpainted is                                                               

Ans: 8
5.
B is 50% faster than A.  If A starts at 9 A.M. and B starts at 10 A.M.  A travels at a speed of 50 km/hr.  If A and B are 300 kms apart, The time when they meet when they travel in opposite direction is                              

           Ans:12 noon

6. You are  having 31kg of rice. You are provided with a 1kg stone for weighing. In how many weights the 31kg of rice can be weighed. 

Ans: 5

7. Dia of the circle 4cm. The shaded part is 1/3 of the square area. What is the side of the square.






Ans:  root of 3pi  

8. The ratio of white balls and black balls is 1:2. If 9 gray balls is added it becomes 2:4:3. Then what is number of black balls.



Ans:12
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9. Diameter of circle is d, Find length of string.(outer string that covers the circle)

Ans: d (pi + 3)

10.  In an island there are tribals who speak language of atmost 4 words. Language consists of 4 alphabets. How many words can be formed in that language?    

Ans 340

11. 4 weights are weighed in pairs. Weights of pair are determined as 103,105,106,106,107,109  What is the minimum weight?

Ans 51

12) 
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Find the perimeter  ? 

ANs 28

13)   Solid cube of 6 * 6 * 6. This cube is cut into to 216 small cubes.(1 * 1 * 1).the big cube is painted in all its faces. Then how many of cubes are painted at least 2 sides. 

 Ans 56

14)  Four persons can cross a bridge in 3,7,13,17 minutes. Only two can cross at a time. find the minimum time taken by the four to cross the bridge.

ans:20

15)  Find the product of the prime numbers between 1-20

ans..9699690

16) In a club there are male and female members. If 15 female quit then the number of females will become double the number of males. If 45 males quit no. of female becomes five times the number of males. Find the number of females.

ans:     females:175,males:80

    17)  A cube has a surface area of 864sqcms. It is divided into smaller cubes of equal size and their surface area is 216sqcms. Find the number of smaller cubes?
             a.4 b.8 c.12 d 16                   

          ANS: b


    18)  There are two milk cans. First can contains water and milk in the ratio 1:3 and the second contains milk and water in the ratio 2:2. Some milk from first can and                      some from second can is mixed in another can. New can has 12 liters of mixture in the ratio 3:5(water to milk). How much milk is taken from first and second can. 

    A 6,6 B 7,5 C 5,7 D 4,8                           

   ANS:A


  19)  A person pays a tax of 10%,if his salary increases by 10% he need to pay a tax of 15%.The total gain he obtains after increment in salary is 350Rs .What is his    salary?
  a.12000 b 10000 c.8000 d.14000             

  Ans:b

  20)  Rajesh walks on pavement around the garden of size 60*40.The pavement width is 1 meter. What is the area of Pavement?
        a.204 b.102 c.306 d.428                        

    Ans:a

